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I REHE

1 RER
(1) BEH= (BpLFhy)
T E ) — —
FRoERE | XEIF MATRE | ErpogtEfE | ER21ERE
iE 5 FIHALE FIHALE
- (%) (%)
5 | Kk 8 1,462.8 88.3 95.1 1,655.9 1,537.5
% | | P& TR 0.0 - - - _
5 |EEER 22.2 78.0 81.9 28.4 27.1
W | B[ K FE 57.3 73.0 91.0 78.6 63.0
K 5 | & FE 0.0 160.4 845 0.0 0.0
it 1,542.4 875 94.8 1,762.9 1,627.6
ﬁﬁﬁﬁll t & 4.8
Ml X %X | 646
F 1) SOVFOBEZRTEEARN—BLEWVGEELAH S,

2)  T01 (FEFEICHEEGVWED. T-1 FEENGTVEDERT,
(2) HARIREHRE (BB Fh)
A | TFR29E FRE29%E Rk 284
9HA30RIRTE | 8AITARE | (A)—(B) |xttk(%)
FE5E (A) (B) (3A31AHE)
5 | K 7@ 1,462.8 2435 1,219.3 31.9
* 5 | BT 0.0 - 0.0 -
5 |EER 22.2 05 21.7 215
W | B LK FE 57.3 6.5 50.9 24.0
1% BE F5 0.0 - 0.0 40.0
it 1,542.4 250.5 1,291.8 5.1
1y & 4.8 1.1 3.7
*Jr E S 64.6 17.2 475
E:1) BHELRERMENRACh o,
2) SOV ROBERTHERNRN—BLEWGELDH S,
3) 01 FEEICHEELGEVWED, -1 EEENLGVLDETT,
(3) KFEIDE L AKDEHERALLE
BRI BEHE £ % A K O # ( % )
£ E (FrY)] 1 % 2 % R R RN
1,462.8 80.8 16.7 1.8 0.7
2 # E <2435 <68.4> <24.9> <4.9> A7
1,655.9 83.9 14.3 1.2 0.6
% & E (4,584.6) (83.4) (13.9) (1.4) (1.4)
1,537.5 81.2 16.4 1.9 0.5
27 ® E (4,868.6) (82.5) (14.1) (1.7) (1.7)
29F —28F (RA V) -3.1 2.4 0.5 0.1
29 F — 215 (R4 +) -0.4 0.4 -0.1 0.2
E:1) DEEDOFEOS >E=DOBFIE. DESARBEDIECH D,
2) BEERWIEEOLEOHFIE. R (VA30BIRE) DETH S,
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IFEIR¥E (28F10A31BHRE) DIETH 5,
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2 BEIRENE

(B k)

g Al WOt |KFEESALXRK|KTEEE R K| EE R X XK |EMISILRK|ERMELER X

it & & 78,229 77,026 974 229 - -
HILLEBRE 124,341 110,558 11,421 2,361 - -
5 & 18,080 17,358 551 17 - -

5 F 6,590 2,739 3,735 116 - -

72 W 20,762 20,509 215 39 - -

B H 43,192 40,525 2,324 343 - -

[1TR 24,140 18,971 4215 954 - -

z B 11,576 10,457 380 738 - -
EREEKRE 466,437 453,343 10,620 2,461 1 12
* W 150,219 149,448 658 108 - 5

7 N 83,559 83,239 50 265 - 6
B 804 804 - 0 - -

i S 14,325 14,294 26 5 1 0

F = 172,761 163,431 9,166 163 0 0

" =R - - - - - -

w o= ) 518 518 0 - - -
TR 119 119 - - - -

& % 28,058 25,689 467 1,902 - -

B M 16,074 15,801 254 19 - -
kRS 476,711 434,587 29,240 12,884 - -
S~ 275,355 241,901 25,977 7477 - -

E W 86,148 82,300 1,401 2,446 - -

g 62,497 60,493 1,184 820 - -

I 52,711 49,893 678 2,140 - -
HaERE 73,740 72,115 944 681 - -
B B 8,096 7,112 672 312 - -

2 A 16,696 16,363 138 195 - -

= = 48,949 48,639 135 175 - -
REERE 95,524 93,723 216 1,585 - -
# = 57,529 57,154 137 238 - -
®O# 13,161 12,856 4 300 - -

X K 690 690 0 - - -

E & 20,622 19,571 64 987 - -

= B 1,291 1,241 6 44 - -

M & W 2,231 2,211 5 15 - -
FEEEER 142,932 138,149 2,830 1,953 - -
B I 8,568 8,142 373 53 - -

E R 23,687 21,923 1,052 712 - -

il W 14,952 14,357 589 6 - -

5 B 26,125 24.419 645 1,062 - -

W A 18,558 18,549 9 0 - -
OB 21,248 21,206 41 - - -

g N 3,100 3,098 2 - - -

Z IR 8,260 8,242 18 - - -

= AN 18,433 18,213 100 121 - -

AW EBE 82,942 81,807 1,098 38 - -
B M 21,132 21,131 1 - - -

' =B 9,303 9,225 78 - - -

E & 2,557 2,557 - - - -

B K 13,174 12,193 966 15 - -

X & 3919 3,897 - 23 - -
=g 21,354 21,350 4 - - -

BE R B 11,504 11,455 49 - - -

b i 1,511 1,510 0 - - -

& &t 1,542,366 1,462,818 57,343 22,192 1 12
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2 EHENREHE (BAHRLARUSEFAZX)
(Bfr: k)

[} Al HAHALS | AHEBXX

It & & - 430
HIELEBRE 386 2,917
qF & 353 120
mooE - 198

= 4 - 181

# M| - 146

(1T 7 33 1,677

B B - 595
BEREKE 1,369 35,341
* W 103 10,464

wm K - 815

B OB - 8

m E - 837

F % 1,124 23,058

B = - -

#w o= N - -
(TT/-! - -

E B 1 -

- 131 159
LEERE 324 13,887
woR 138 11,552

E W 150 346

g 36 1,186

B H - 803
HBEEBRE 1,221 3,681
g B 116 948

2 M 175 880

= & 930 1,853
RRERE 22 746
% B 22 578
"&b - 5

X K - 1

E & - 126

=z B - 37

M ;W - -
FEEEER 17 6,154
B W - 7

E R - -

B W - 117

hE B - 49

Ww o - 10
B - 2,183

& - 319

2 1B 17 89
! - 3,380

R EBRE 1,421 1,495
g M - -

£ = - -

E B - 46

B K 15 287

X » 143 -

= IA 232 191

BE R B 1,031 971

b B - -

& it 4,761 64,650
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3 FRAREHE

(1) KIEIDEHXK (iﬁ:h‘_/‘%)
s g _#ﬁ = % = % ® te ES
# Et 1% 2 % 3 %5 BNl 1% | 2% |3 % [HEHN
t & & 77026] 72,015 2,936 157 1,917 935 38 0.2 25
HIELEBE 110,558 103,105 6,737 317 399 93.3 6.1 0.3 0.4
&F & 17,358 16,931 416 9 2 975 24 0.1 0.0
5 F 2,739 2,558 174 7 - 93.4 6.4 0.2 -
T W 20,509 16,774 3,319 102 314 81.8 16.2 0.5 15
# = 40525| 38,956 1,379 142 48 96.1 34 0.4 0.1
(1T 1 18,971 18,183 763 25 0 95.8 40 0.1 0.0
z B 10,457 9,704 687 33 34 928 6.6 0.3 0.3
ERERE 453343 428,477| 23,108 1,300 458 945 5.1 0.3 0.1
x W 149,448 141,966 6,953 383 146 95.0 47 0.3 0.1
7 N 83,239| 79,320 3,696 163 60 95.3 44 0.2 0.1
B B 804 661 138 5 0 82.2 17.1 0.7 0.1
% E 14,294 11,635 2,330 261 67 81.4 16.3 18 0.5
F o= 163,431| 155,628 7,310 333 161 95.2 45 0.2 0.1
B = -
= 518 309 205 5 - 59.6 395 0.9 -
1T 119 100 14 5 - 84.4 1.8 3.8 -
E B 25,689 25,224 420 44 1 98.2 16 0.2 0.0
i M 15,801 13,634 2,042 102 23 86.3 12.9 0.6 0.1
LEERE 434587 383,667| 47,332 1,877 1,712 88.3 10.9 0.4 0.4
¥ A 241,901 209,001 31,318 1,197 386 86.4 12.9 0.5 0.2
E W 82,300| 75,639 6,357 205 100 91.9 7.7 0.2 0.1
g 60,493| 53,708 6,339 337 110 88.8 10.5 0.6 0.2
B H 49,893| 45,320 3,319 139 1,116 90.8 6.7 0.3 2.2
HAaElE 72,115 25018| 43987 2,854 256 347 61.0 40 0.4
B 7112 4,241 2,568 165 138 59.6 36.1 2.3 1.9
N 16,363 3,784 11,495 1,058 27 23.1 702 6.5 0.2
= =B 48,639 16,993 29,924 1,631 91 349 615 34 0.2
ERERE 93,723 62,887 28,086 2,419 330 67.1 30.0 2.6 0.4
OB 57,154| 41,108 15,038 809 199 719 26.3 1.4 0.3
b 12,856 7,947 4,531 321 58 61.8 35.2 25 0.4
X IR 690 170 332 178 9 247 482 258 13
E & 19,571 12,266 6,588 684 33 62.7 33.7 35 0.2
= B 1,241 1,078 143 21 - 86.8 115 1.7 -
# W 2,211 319 1,455 406 31 144 65.8 18.3 1.4
FEEEERE 138,149 78,081 51,603 6,984 1,481 56.5 374 5.1 1.1
B W 8,142 3,977 4,012 130 24 488 493 16 0.3
B iR 21,923 14,033 6,886 956 49 64.0 314 44 0.2
@ 14,357 11,249 2,715 310 83 783 18.9 2.2 0.6
L B 24.419| 20,346 3,740 266 68 83.3 15.3 1.1 0.3
w o 18,549 14,197 4,017 264 70 765 21.7 14 0.4
m B 21,206 8,094 11,750 1,202 161 38.2 55.4 5.7 0.8
& N 3,098 127 2,460 507 3 4.1 79.4 16.4 0.1
T I 8,242 2,849 4,750 514 128 346 57.6 6.2 16
= A 18,213 3,210 11,273 2,835 896 17.6 61.9 15.6 4.9
RMEBE 81,807| 27,655 40478 10,027 3,647 338 495 12.3 45
= M 21,131 3,707 16,081 1,196 147 17.5 76.1 5.7 0.7
5 =B 9,225 6,524 2,351 89 260 70.7 255 1.0 2.8
E I 2,557 685 1,758 101 13 26.8 68.7 40 0.5
BE K 12,193 2,711 7,038 2,027 417 222 57.7 16.6 34
X & 3,897 2,081 1,405 331 81 53.4 36.0 8.5 2.1
=g 21,350 9,785 6,895 3,154 1,515 458 323 14.8 7.1
BE R B 11,455 2,161 4,949 3,130 1,214 18.9 432 273 10.6
; 1,510 837 470 151 52 55.4 31.1 10.0 3.5
& Bt 1,462,818 1,181,743 | 244737 26,086| 10253 80.8 16.7 18 0.7
E D) SUCRDERCHENRE—BLENBENHYET .
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(2 KFELHEZHAK

(ﬁﬁl:li.& %)

8w _f@ = ol = £ & 23 &
i 1% 2 & 3 % o]l 1% |1 2% |3 % |#HEHN
t & & 974 896 35 - 43 92.0 36 - 44
HIELEBE 11,421 7,981 3,354 69 18 69.9 29.4 0.6 0.2
5 & 551 175 371 4 - 318 67.4 038 -
A F 3,735 3,592 130 9 5 96.2 35 0.2 0.1
T W 215 6 175 24 10 2.7 81.7 11.1 45
# | 2,324 225 2,083 17 0 9.7 89.6 0.7 0.0
(T 4215 3,726 474 14 1 88.4 1.2 0.3 0.0
z B 380 256 121 1 2 67.4 318 0.2 0.6
EREKE 10,620 8,208 2,164 218 30 713 20.4 2.1 0.3
x W 658 400 233 19 5 60.9 355 2.9 0.7
w K 50 37 11 2 - 738 22.0 41 -
BB -
w E 26 21 4 1 - 81.2 13.6 5.1 -
F o= 9,166 7,236 1,757 152 20 78.9 19.2 1.7 0.2
B = -
W& 0 - - 0 0 - - 28.6 714
(T} -
E % 467 347 98 22 - 74.4 20.9 47 -
B [ 254 166 62 21 5 65.4 243 8.4 18
LEERE 29,240 19,321 8,330 1,026 563 66.1 28.5 35 1.9
woR 25,977 16,476 7,978 969 553 63.4 30.7 3.7 2.1
E W 1,401 1,193 164 42 2 85.2 1.7 3.0 0.1
g 1,184 1,034 134 11 6 87.3 1.3 0.9 05
I 678 618 53 4 2 91.2 7.9 0.6 0.3
HAaERE 944 371 480 86 7 39.3 50.9 9.1 0.7
1= 672 342 269 54 6 50.9 40.1 8.1 0.9
pal 138 10 114 13 - 74 83.2 9.4 -
= B 135 19 96 18 1 14.4 713 13.6 0.7
BREBE 216 46 127 41 2 21.2 58.9 18.9 0.9
% OB 137 40 86 10 0 295 62.7 75 0.2
w O 4 1 2 1 - 236 46.5 29.9 -
X & 0 - 0 - - - 100.0 - -
E E 64 5 37 22 0 7.1 57.6 347 05
= B 6 - 2 4 - - 29.1 70.9 -
M W 5 - 1 3 1 - 145 58.4 27.1
FEEEEKRE 2,830 1,169 1,454 180 26 413 51.4 6.4 0.9
B mW 373 303 59 8 3 81.4 15.8 2.1 0.7
E B 1,052 487 510 55 1 46.3 484 5.2 0.1
@ W 589 98 438 39 14 16.6 744 6.6 2.5
L B 645 264 330 49 2 40.9 51.2 7.6 0.4
W A 9 5 4 0 - 52.1 441 38 -
OB 41 10 15 11 6 233 37.0 25.9 13.8
F N 2 0 1 1 38 38.8 57.5 -
T B 18 - 13 4 0 - 74.7 23.7 1.7
= Al 100 3 84 13 0 3.0 83.7 13.1 0.2
RMERE 1,098 153 600 284 61 14.0 54,7 25.8 5.5
B M 1 - 1 0 - - 83.3 16.7 -
& B 78 23 43 10 2 29.4 55.3 133 2.0
E & -
N 966 131 556 231 48 135 57.6 23.9 5.0
X % -
O 4 - - 4 - - - 100.0 -
BERS 49 - - 38 11 - - 713 227
j 0 - - - 0 - - - 100.0
& &t 57,343 38,146 16,545 1,903 749 66.5 28.9 33 13
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Q) EEERAXS

71~

(AT, %)

SR DER CTENRD — RGN BEAHYET .

s g _ % = # = % % tt &=
Rl | BE(1%5 | 2% Z |HEalE L8 F F|2 |3 ZF|gss
& & 229 - 120 102 - - 7 -] 52.5] 445 - -[ 30
HIELEBE 2,361 - 130 1,902 275 42 13 -| 55| 805| 116/ 18 05
& &= 171 - 39 114 19 - - -| 225| 66.6] 10.9 - -
5 F 116 - - 114 2 - - - -| 981] 19 - -
T W 39 - - - 32 6 - - - -| 835| 165 -
# | 343 - - 316 19 8 - - -| 920 55/ 25 -
(1T 954 - 91 692 131 27 13 -| 96| 725| 137 28/ 13
z B 738 - - 666 72 - - - -| 902| 98 - -
EREKE 2,461 - 50| 2,196 150 33 33 -| 20| 89.2| 61| 14 13
x W 108 - 3 98 7 - - -| 30| 906 65 - -
L/ N 265 - 46 119 62 4 33 -| 175| 449| 236 17| 124
B B 0 - - - 0 - - - - -1 100.0 - -
% E 5 - - 2 1 1 - - -| 47.4| 224| 303 -
F o= 163 - - 131 30 2 - - -| 80.1| 183| 15 -
B = -
wo= -
(1T -
£ B 1,902 - - 1,841 36 25 - - -| 968 19| 13 -
i M 19 - 0 5 13 - - -| 15| 28.4| 70.1 - -
LEERE 12,884 - 64 11,492 1,196 73 59 -| 05| 89.2| 93| 06| 05
¥ & 7,477 - 6] 6313[ 1,071 28 59 -| 01| 844| 143 04 08
E W 2,446 - -| 2422 20 5 - - -| 99.0| 08| 02 -
a n 820 - 14 754 43 9 - - 17| 920| 53| 10 -
B H# 2,140 - 43| 2,004 62 31 - -| 20| 936] 29| 14 -
HaElE 681 - 121 495 51 12 2 -| 17.8] 726| 75| 18| 03
g B 312 - 71 223 1 4 2 -| 229] 715| 36| 14 07
2 Al 195 - 7 158 23 6 - -| 37| 81.1] 120 32 -
= =B 175 - 43 114 17 2 - -| 244| 65.1| 96| 09 -
RRERE 1,585 - 3| 1,043 470 65 5 -| 02| 658 296 41| 03
OB 238 - 3 134 97 1 2 -| 13| 56.4| 408 05[ 1.0
| 300 - - 82 168 49 1 - -| 27.3| 56.0| 16.4| 03
X & -
E & 987 - - 815 163 8 1 - -| 826| 165 08| o0.1
= B 44 - - 11 28 5 - - -| 258| 623 11.8 -
M o 15 - - - 14 2 - - - -| 89.5| 105 -
FEEEERE 1,953 - 918 637 353 39 7 -| 470| 32.6| 181 20| 03
5 W 53 - 4 18 30 1 - -| 80| 338| 568 14 -
B iR 712 - 16 479 196 19 1 -| 23| 67.3| 276] 27| o02
W 6 - - 3 2 1 - - -| 52.1] 266 214 -
L B 1,062 - 898 124 34 1 6 -| 845| 117 32| 01| 05
w A 0 - - 0 - - - - -| 100.0 - - -
"B -
F N -
B 1B -
= 121 - - 13 91 17 - - -| 104| 75.8| 138 -
AMERD 38 - - 1 32 4 - - -| 27| 86.1| 112 -
= M -
& = -
E & -
B X 15 - - 1 10 4 - - -| 68| 650 282 -
X & 23 - - - 23 - - - - - 100.0 - -
T I -
BE R B -
;’q: -
& &t 22,192 -| 1.406| 17,866 2,527 269 124 -| 63| 805| 114 12| o6
)
2)
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(4) EBAHALARUVEHBAZK

(HEf b, %)

SR DER CTENRD— RGN BEAHYET .

8 g B EHE (bas)|H=sER(EH) BEHEE (X X)) |FHER(KX)
A& % ([ BEN]l & 8% | HREN e & #® | BEan]l & % [FEs
* & & - - - - - 430 430 - 100.0 -
HIELEBRE 386 386 - 100.0 - 2,917 2,917 - 100.0 -
' & 353 353 - 100.0 - 120 120 - 100.0 -
5 F - - - - - 198 198 - 100.0 -
T W - - - - - 181 181 - 100.0 -
# = - - - - - 146 146 - 100.0 -
(1T 33 33 - 100.0 - 1,677 1,677 - 100.0 -
E B - - - - - 595 595 - 100.0 -
EREERE 1,369 1,369 - 100.0 - 35,341 35,340 1 100.0 0.0
x W 103 103 - 100.0 - 10,464 10,463 1 100.0 0.0
w K - - - - - 815 815 - 100.0 -
BB - - - - - 8 8 - 100.0 -
% E - - - - - 837 837 - 100.0 -
F OE 1,124 1,124 - 100.0 - 23,058 23,058 - 100.0 -
B = - - - - - - - - - -
wo= - - - - - - - - - -
(1T - - - - - - - - - -
E % 11 11 - 100.0 - - - - - -
&% M 131 131 - 100.0 - 159 159 - 100.0 -
LEERE 324 324 - 100.0 - 13,887 13,880 6 100.0 0.0
¥ A 138 138 - 100.0 - 11,552 11,550 2 100.0 0.0
E W 150 150 - 100.0 - 346 346 - 100.0 -
a 36 36 - 100.0 - 1,186 1,182 4 99.6 0.4
B H - - - - - 803 803 - 100.0 -
HAaERE 1,221 1,221 - 100.0 - 3,681 3,681 - 100.0 -
g B 116 116 - 100.0 - 948 948 - 100.0 -
2 Al 175 175 - 100.0 - 880 880 - 100.0 -
= =B 930 930 - 100.0 - 1,853 1,853 - 100.0 -
ERERE 22 22 - 100.0 - 746 746 - 100.0 -
# B 22 22 - 100.0 - 578 578 - 100.0 -
" O - - - - - 5 5 - 100.0 -
X K - - - - - 1 1 - 100.0 -
' E - - - - - 126 126 - 100.0 -
= R - - - - - 37 37 - 100.0 -
# W - - - - - - - - - -
FEEEE®RE 17 17 - 100.0 - 6,154 6,151 3 100.0 0.0
B W - - - - - 7 7 - 100.0 -
E R - - - - - - - - - -
@ - - - - - 117 117 - 100.0 -
L B - - - - - 49 49 - 100.0 -
w o - - - - - 10 10 - 100.0 -
' B - - - - - 2,183 2,183 - 100.0 -
F N - - - - - 319 319 - 100.0 -
2 I 17 17 - 100.0 - 89 89 - 100.0 -
= - - - - - 3,380 3,377 3 99.9 0.1
AMERE 1,421 1,421 - 100.0 - 1,495 1,495 - 100.0 -
= M - - - - - - - - - -
£ =B - - - - - - - - - -
E & - - - - - 46 46 - 100.0 -
g K 15 15 - 100.0 - 287 287 - 100.0 -
X & 143 143 - 100.0 - - - - - -
T I 232 232 - 100.0 - 191 191 - 100.0 -
E R B 1,031 1,031 - 100.0 - 971 971 - 100.0 -
ih - - - - - - - - - -
& Bt 4,761 4,761 - 100.0 - 64,650 64,639 11 100.0 0.0

)
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4 BRBBRENE

(1) KFESIH XK
(BEBI: b, %)
AA *E E i‘lﬂ e a 1 % 2 % 3 % fE *% %

HLNEDOMEY &% M 3 417 58.3 - -
2o 151 956 4.4 - -
N 154 94.6 5.4 - -

E41235 Z A 12 89.9 10.1 - -

B Il n

HhhzE B E -

KLY E W -

HEITFLE F N 1 - 100.0 - -
BB K 22 67.6 16.2 16.2 -
R -
N E 23 65.6 18.7 15.7 -

HEIHY E W 7 79.6 20.4 - -
= H 4,557 914 5.2 0.1 33
s B 51 100.0 - - -
L B 2,639 92.7 6.8 05 0.0
m B 909 411 51.2 6.3 1.4
N E 8,164 86.2 10.8 0.9 2.0

HEE-FL ' & 72 88.7 11.3 - -
5 F 136 94.1 5.9 - -
= W 0 100.0 - - -
M M| 39,442 96.6 29 0.4 0.1
[T 1 1,131 89.7 10.1 0.1 -
= B 30 95.0 - 5.0 -
* 35,618 96.6 3.1 0.2 0.1
m E 941 90.8 6.1 2.7 05
F OE 10,103 96.7 2.9 0.3 0.0
R 218 490 49.3 1.7 -
E W 1 100.0 - - -
a 24 215 785 - -
£E % 2,117 96.4 3.1 0.4 0.0
g B 2,329 91.6 7.3 0.8 0.4
B M 27 61.5 385 - -
E 1,772 75.8 23.0 1.1 -
= B 2,747 76.7 21.0 1.7 0.6
% B 1,875 84.3 145 1.1 0.1
X R 45 - 459 52.6 15
k E 92 59.3 38.2 24 -
= B 123 82.1 10.9 7.0 -
B 4 - 94.1 5.9 -
2 6,270 72.9 23.6 3.1 05
L B 760 84.9 12.6 1.9 0.6
oA 22 19.8 78.7 15 -
s B 70 39.6 471 9.1 42
F N 24 51.6 21.3 21.1 -
T IE 1,568 26.3 62.1 10.7 1.0
= A 143 14.0 54.5 126 18.9
X & 6 - 100.0 - -
= 109 51.6 32.6 47 11.1
N E 107,820 92.4 6.7 0.8 0.2

MH63E . H -

HELEHDS g2 B -
*x W 22 100.0 - - -
w K -
BB -
B E -
F OE 344 75.6 22.0 1.2 1.2
) 6 100.0 - - -
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o & E i “wEt = > = BERE R
HELHL(DIF) E W 119 88.8 11.2 - -
a 65 68.4 31.6 - -
E % -
Z 391 10.7 75.8 13.5 -
E E 96 31.0 69.0 - -
& 3 51.0 490 - -
3 -
L B 22 57.0 43.0 - -
B K 4 - 100.0 - -
N -
N 1,073 48.9 45.4 5.3 0.4
FEYR = AN 6 — 60.0 40.0 -
et BEE X 9 - 26.0 54.8 19.2
D 3 B 3,327 74.3 24.9 0.8 0.0
MpELHE M H 8 100.0 - - -
HEDEDL E R B -
7XeHh E 1 352 77.0 20.3 1.9 0.8
HEIFHEH E R B -
HEFIY BB K -
X & -
N E -
HEFDOY [T = 4 100.0 - -
HEHFA L B 130 84.4 14.4 0.8 0.4
TR/ 2 -
EE[Ob i S -
- S o 1 100.0 - - -
N E 1 100.0 - - -
] S| 2 -
HIVDE *x W 322 80.4 19.6 - -
m K 1,756 98.0 1.7 0.2 -
B 325 91.7 8.3 - -
% E 287 98.3 1.7 - -
(1T -
g B 219 64.1 31.2 2.9 1.9
&% 18 100.0 - - -
E A 150 70.4 14.4 9.4 5.9
£ IE 2 - 100.0 - -
N Ft 3,081 91.7 7.1 0.8 04
HIE g2 & 57 96.9 3.1 - -
¥ it | & 99 88.9 11.1 - -
¥EA BE R B -
HPUVH it | & 32 79.3 20.7 - -
HhHhHDY # B 199 30.5 57.3 9.7 2.5
RECED B H 10 100.0 - - -
19EH) g ¥ 778 84.5 14.6 0.7 0.2
= B 72 34.3 65.6 0.1 -
M oW 49 21.1 575 19.0 25
s B 43 15.4 75.2 7.7 1.7
= 114 11.9 54.9 22.8 10.4
IR B 4121 6.6 385 39.1 15.9
N 5177 19.1 36.1 31.9 12.9
W f=f== F OE 18 100.0 - - -
BE K 21 496 50.4 - -
N 39 72.7 27.3 - -
—&E x W 728 98.2 1.6 0.1 -
LDEDE T W -
oos 0 - 100.0 - -
E B 1 100.0 - - -
g B 31 95.7 3.4 - 1.0
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N 41 80.3 19.0 - 0.7

LWhToHZ "2 F 13 75.8 24.2 - -
ST AR = =B -

HE2915 5 FH 319 100.0 - - -

AHDHE ER) 19 89.9 10.1 - -
KHDH# = 5 _
*x -

wos 37 100.0 - - -

N 37 100.0 - - -
IILo—L—iH *x W -
LGCY Tk g2 B -
*x W -

s B 2 - 100.0 - -

B M| 37 100.0 - - -

& R - - 100.0 -
LB -

N 41 914 5.4 3.3 -
BEUY ;R -
E -

g B 24 - 88.6 11.4 -

o 73 - 100.0 - -

N 97 - 97.2 2.8 -
ELTELY —all -

Atk F 2 - 100.0 - -
PN Ry 2 B -
BEIZLY T W -
B B -
N E -
BETAEEREL £ I} -

= 31 27.8 53.9 12.3 6.0

N 31 27.8 53.9 12.3 6.0

BIFEH»DIE it | & 1,898 94.9 5.1 0.0 -
BFEEHIR B W -

BhoEA E W 2 - 100.0 - -
W ROIE = W -
T & -
N E -

MIFIEL 5 _F 27 13.9 86.1 - -

BASth E % 230 875 11.4 1.1 -
ENELS . H -

BOE ) 2 - 100.0 - -
ERH *x W -

) 17 12.4 46.0 5.7 35.9

N 17 12.4 46.0 5.7 35.9

=KYA it | & 573 96.8 3.2 - -
It ERiE i & & -
*XkeAhHY T W -

*x W 221 93.9 5.9 - 0.2

B 3 100.0 - - -

m E 268 84.6 9.5 5.6 0.3

&= 289 68.7 30.7 0.6 -

ST 103 75.7 21.6 1.3 1.3

g FH 138 87.8 115 - 0.8

E B 21 100.0 - - -

s B 5 36.9 63.1 - -

B M| 319 69.3 275 3.2 -
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# B 11,503 63.2 34.6 2.0 0.2
O 1,827 66.2 31.2 2.4 0.1
X R 612 26.9 46.8 249 1.4
E E 2,749 24.9 64.0 10.8 0.2
= B 114 70.0 28.4 1.6 -
0 W 1,508 115 69.1 183 1.1
2 713 718 23.0 30 2.2
L B 85 22.0 46.2 31.8 -
"= B 3,730 24.9 62.7 11.3 1.1
F N 6 - 64.5 17.2 18.2
T B 231 32.8 64.2 30 -
= A 2 - 240 34.7 413
£ 14 -
B K 3,899 0.8 61.5 32.3 5.3
N -
N E 30,997 42.7 471 9.1 1.1
FEHLTH B M| 832 86.8 12.4 0.7 -
= B 49 84.5 155 - -
# ' 517 99.6 0.4 - -
X B -
E E 34 325 64.0 35 -
0 8 W 106 66.6 329 0.3 0.2
B 27 86.2 13.8 - -
E R 2,155 88.0 11.0 0.8 0.2
2 95 88.0 6.5 2.5 2.9
(T =] 165 88.9 105 0.6 -
=gz -
N 3,980 88.2 10.9 0.7 0.2
SiRDE 2 -
ROEE O 579 75.5 21.0 35 -
FI=F o H 32 100.0 - - -
IS "2 F 3 100.0 - - -
=55397 Lt #E & 1,074 98.7 1.3 - -
EHYE G = 25 33.1 9.9 56.9 -
EHYA E % 37 100.0 - - -
FDLSE T W 4 - 100.0 - -
M -
N 4 - 100.0 - -
ZEADHSH # H= -
[T 1 20 100.0 - - -
E B 14 100.0 - - -
B [ 19 78.2 - 21.8 -
[ 53 92.3 - 7.7 -
£k B -
B ESH [ -
= -
it -
gR:aD L9 < F 348 100.0 - - -
FASA A 100.0 - - -
CESADMEE BE K -
{ESADH BE X 16 42.7 42.3 15.0 -
EU90 E W 2 - - - 100.0
&KL = | 654 72.3 25.7 1.7 0.3
FAEES = W 8 100.0 - - -
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EDFR L B -
w o -
N EF -
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WAL L B 920 90.9 8.6 0.4 0.1

ELR = 13 - 47.9 46.7 5.4
) -

N 13 - 47.9 46.7 5.4

Lol = = 8 73.8 26.2 - -
_ZAFEL =2 W -

CLLWRE R 70,330 85.1 14.1 0.7 0.1

R4 R 351 88.3 10.7 0.2 0.8
aseAhy F & -
5 F -

= W 29 91.3 8.7 - -

M H 2 100.0 - - -

(1T 254 96.0 40 - -

= B 2,930 91.9 7.9 0.0 0.1

*x W 97,881 94.8 49 0.2 0.1

m K 71,726 95.0 47 0.2 0.0

B E 407 72.9 25.7 1.3 0.1

% E 8,936 76.9 20.7 2.3 0.1

F = 81,590 94.3 5.3 0.2 0.1

wmx 6 31.6 68.4 - -

R 151,662 87.1 126 0.2 0.1

E W 64,438 91.1 8.7 0.1 0.1

a 36,404 90.0 9.4 05 0.1

B H 23,258 91.3 6.1 0.3 2.3

w3 96 91.9 5.9 2.2 -

E % 22,060 98.6 1.3 0.1 0.0

g B 3,532 43.3 515 2.5 2.7

&% M 13,704 87.1 12.4 05 0.0

E 11,166 10.1 82.2 7.7 0.1

= B 39,684 295 66.9 35 0.2

% ' 23,278 68.6 29.9 14 0.0

" O 9,959 60.2 36.7 2.5 05

X R 27 19.3 80.7 - -

E E 15,499 70.2 27.9 1.7 0.2

= B 512 90.6 8.8 0.6 -

M oW 405 7.6 70.4 20.6 1.4

B 4,480 48.8 48.7 2.0 05

B 15,507 59.7 345 55 0.2

2 6,138 84.8 136 1.2 0.4

L B 16,938 81.8 16.9 1.0 0.3

(T =] 9,999 75.5 22.8 1.4 0.3

s B 15,505 410 54.3 4.2 05

EF 2,880 33 79.8 16.9 0.1

T 1B 6,222 37.1 575 5.2 0.3

= A 15,575 16.6 63.7 14.9 48

= M 413 2.7 93.4 3.2 0.7

® B 4,711 62.5 36.0 14 0.1

£ B 2,157 15.8 78.9 47 0.6

BB K 6,640 34.0 55.4 8.9 1.8

X & 1,017 21.7 50.8 22.1 5.5

- 18,265 49.6 315 12.8 6.2

B R B 6,550 27.0 438 21.3 7.9

N E 812,442 78.8 18.9 1.8 0.5

HAEII T W 17 93.7 - 6.3 -

M H 27 78.6 21.4 - -

= B 80 92.2 4.0 2.8 1.0

m E 26 78.2 21.8 - -

F %E 91 975 25 - -

1T 18 67.4 18.8 13.9 -

- 13-




(B b, %)
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& 8 E i “wEt = > = BERE R

HFN(DDE) N 259 89.6 7.8 2.2 0.3
dJaEhY B -

£EDE 52 F 58 100.0 - - -
Al X 2 B -

EDhHpE B E 556 81.8 17.0 1.2 -

FAOKEERA H E 2,538 93.6 6.0 0.4 0.0

EDIFIFAH i E 1 100.0 - - -

EDHDY B E 32 71.7 28.3 - -
SHAUKY = =B -

I=FUVHY = 5 - - 100.0 -
9oL = W -

HH—ix " F 20 60.0 40.0 - -

T W 1,343 64.6 33.7 1.6 -

# |H 33 90.0 10.0 - -

(1T 293 81.8 16.4 1.7 -

= B 36 99.8 0.2 - -

m K 0 - - 100.0 -

o' 14 100.0 - - -

N E 1,740 68.9 295 1.6 -
IHEERXE = W -

SELFA wmxE N 1 - 100.0 - -

k=B 33 95.6 4.4 - -

N 34 92.3 7.7 - -

BowE W ® 13 36.1 63.9 - -

BILODOAR 2 B 3 100.0 - - -
SHhELLFEN il -

Shh sy = AN 1 - 35.3 64.7 -

ShDIEA w2 3 100.0 - - -
ShUumny BB -
&5 T W -

R 10 - - 100.0 -

E W 16 - - 100.0 -

g n 7 - 100.0 - -
E I8 -

N 33 - 21.8 78.2 -
HEETIH m K -

> B o 19 100.0 - - -

N 19 100.0 - - -

;2B ) 256 100.0 - - -
2/—I18—)L  H -

ERXDEE ' & 5,064 98.9 1.1 - -

FEDIZL W o 3 100.0 - - -
FRE R -

TohE i & & 140 100.0 - - -
Kb E T A -
Kb E i & & -

Y1) 2 F 59 100.0 - - -
f=hhaH DY # |= -

B B 17 91.0 9.0 - -

N E 17 91.0 9.0 - -

f=&1=T = W 1 - 100.0 - -
=561%5H E B -

ECEE = W 24 93.1 6.9 - -
-AIEDE T B -

LIFEADY o H 334 60.9 38.7 0.3 -

LUy pAE 207 30.4 45.1 16.2 8.3

FI=F B B 160 96.7 33 - -

*x W 1,450 93.8 5.8 0.2 0.1

E A 54 83.0 7.7 9.3 -
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[=]=] jﬂiz iﬂ_’, e u+ 1 % 2 % 3 % fﬁ *% %
FIA=F(DIF) N E 1,664 93.8 5.7 0.5 0.1
Y\ = s 5 & 6,515 96.0 3.9 0.1 0.0
Vo LiR<wL & [ -
HKLAFA g [ 9 - 100.0 - -
2KIESD1E = -
B H -
(1T -
g B 4 100.0 - - -
*x W -
R 19 - 774 22.6 -
E W 3 100.0 - - -
g FH 299 23.6 72.1 1.8 2.5
B [ 125 84.8 15.2 - -
N E 449 40.8 55.4 2.1 1.7
2{ILSDh2& o H -
(1T -
= B 16 100.0 - - _
* 263 87.8 12.2 — —
N Et 279 88.5 11.5 - -
DAREAL . H -
DARPE g & -
2REED 2= [ -
DR = W 29 81.1 18.9 - -
(1T 1 245 97.8 2.2 - -
& R 3,023 67.2 31.3 15 0.0
£ & 397 86.9 13.1 - -
X & 1,116 60.5 35.8 36 0.1
= 43 53.7 353 11.0 -
N F 4,853 68.8 29.4 1.8 0.0
HPEHY 1T ] 17 100.0 - - -
Thiuny B H -
TAZHY E W 1,335 95.3 46 0.0 0.0
oA -
N 1,335 95.3 46 0.0 0.0
KEDEF = =B -
TAT=HK = 14,715 95.1 42 0.5 0.2
XDDON 2 B 263 88.7 10.3 1.0
XKEBEZE E % 2 44.4 - 55.6 -
L1948 = W 149 84.6 14.8 0.6 -
EhBED E W 4 12.3 87.7 - -
TiE8R = A -
EEEDE m_K 2,722 99.1 0.8 0.1 -
rrOFXD+ ) 242 40.7 56.9 0.6 1.8
ERDHCH *x W 219 87.4 12.0 - 0.6
m K -
BB -
m E 16 88.5 115 - -
F 10 49 6 50.4 - -
N E 245 85.9 13.5 - 0.6
EFALM W 814 99.1 0.9 - -
(= I = 5 F -
= 116 81.4 18.6 - -
N E 116 81.4 18.6 - -
EEHE *x W 278 84.7 14.9 0.4 -
EAEZLY ;oA 44 66.9 30.7 24 -
E W -
g N 39 100.0 - - -
= E 207 35.7 50.3 14.1 -
R # 149 71.6 28.1 0.3 -
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o 8 E i “wEt = = BERE R
EREZN(DDE) ' E 251 61.4 31.7 6.4 0.5
LB 28 88.4 5.1 6.5 -
N 718 59.6 33.5 6.8 0.2
EAUL®Y 5 _F 68 99.6 0.4 - -
PAEHTAR E E -
2 -
L B 89 68.9 254 45 1.1
W -
N 89 68.9 25.4 45 1.1
MAHII vk x W -
woa 15 - 17.3 785 4.1
N 15 - 17.3 78.5 4.1
BIYpE BoR -
A ROy m_ R 6,111 96.4 3.4 0.2 0.1
HEOLgH I 85 77.4 22.3 0.4 -
ENEH = 1,816 20.0 44.3 31.2 4.6
+FYeAhY = AN 470 40.8 479 10.2 1.1
BDIEDH E R B 462 21.7 52.3 21.8 42
HiEDIXL it | & 34,884 95.2 4.6 0.2 -
e 5 =B -
BEEZES = 504 45.1 51.1 3.6 0.3
I22FE5 m K -
F ¥ -
a
&% M 100.0 - - -
A
' -
" O -
X B -
g E
M ;W - 100.0 - -
E R
2 -
L B -
1T =] -
& -
T I -
= A 84 34.0 43.1 135 9.5
= @ -
® B -
£ I} -
BB K 52 55.9 44 1 - -
X & -
- 28 5.1 51.2 35.0 8.7
B R B -
N EF 168 36.7 447 12.5 6.1
BRI * 10 78.8 21.2 - -
m K -
% E 130 61.4 38.6 - -
E W 1 100.0 - - -
£ -
s FH 174 84.7 11.9 0.2 33
s B -
% B 2,968 72.6 248 2.5 0.1
O 6 87.1 - 12.9 -
E E 1 - 100.0 - -
M oW 2 36.8 63.2 - -
B W -
[ 1 100.0 - - -
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& 8 E i w3 = > = BERE R
BARE (DDF) w A 324 89.5 9.7 0.9 -
& B 3 - 44.7 55.3 -
kB B 6 13.3 58.6 28.1 -
N 3,625 74.1 23.4 2.2 0.3
RiFyrp=E g & -
ER1E R -
BEi48E [T -
BEEUMY A 1,481 87.3 11.1 1.4 0.2
NAT)yRESTH3E *x W 18 - 71.2 28.8
o' 31 76.4 23.6 - -
N E 48 48.4 41.0 10.6 -
EINES) BB -
FZhE  |= -
(1T 1 12,350 96.5 34 0.1 0.0
g B 17 100.0 - -
* 8 421 57.9 - -
R 54 419 40.4 176 0.1
= H 381 97.9 1.9 - 0.2
F N 169 10.0 83.2 6.8 -
N -
N Ft 12,979 95.2 46 0.3 0.0
FEDOMEY = W 0 - 100.0 - -
NYDE I B 12 - 59.5 28.7 11.8
oA -
N 12 - 595 28.7 11.8
NFIFEY E W 2 100.0 - - -
g N 1,665 82.9 14.8 1.3 1.0
= H 19,195 91.6 6.4 0.3 1.6
' 711 92.6 7.4 0.0 -
E E 419 50.5 47.0 2.5 -
M oW 15 56.0 355 8.5 -
E R 1,204 69.6 26.8 3.2 0.4
m B 639 459 46.0 55 2.5
N 23,849 88.0 9.9 0.7 15
X3 T W -
(1T 1 35 100.0 - - -
E W -
g -
= H -
[T -
N E 35 100.0 - - -
FhEOF BERE -
(FEDEN w 100.0 - - -
I ES -
N E 8 100.0 - - -
(X5H *x W 98 95.5 45 - -
wmx N 220 48.7 50.0 1.2 -
% B -
= B 9 355 57.9 6.7 -
N E 327 62.4 36.6 1.0 -
E5% W A 706 71.5 28.0 0.5 -
ExTV = 26 - - - 100.0
EAUEHA m K 5 100.0 - - -
F OE 37 100.0 - - -
R -
= E 15 37.9 57.9 4.2 -
% B 31 15.2 59.3 25.6 -
O 15 92.8 7.2 - -
E B 1 7.0 — 93.0 -
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EAUFHHIE (DDF) L B 6 63.6 20.9 15.5 -
B 27 49.4 50.6 - -
2 14 21.1 68.7 - 10.1
"= B 3 - 100.0 - -
F N 1 - 60.0 40.0 -
= A 20 - 40.9 58.8 0.3
BE K 81 - 37.9 48.8 13.2
N E 256 33.8 37.2 24.2 4.8
EAYwya = A 21 214 75.5 3.1 -
VD EDHIFZN g A -
" F 1,975 93.2 6.5 0.3 -
T W 17,540 84.3 15.2 0.4 0.1
M H 141 91.2 8.8 - -
(1T 3,306 96.8 3.1 0.0 -
= B 6,464 93.7 6.0 0.3 0.0
*x W 1,993 90.4 8.7 0.3 0.6
m K 154 100.0 - - -
B E 11 74.9 25.1 - -
F OE 593 94.6 5.1 0.0 0.2
;R 742 86.6 12.2 1.2 0.0
E W 23 66.8 33.2 - -
a 224 95.1 49 - -
g FH 87 99.3 - - 0.7
(1T -
£E % 535 100.0 - - -
g B 615 395 52.3 55 2.7
B M| 169 73.7 25.0 1.3 -
Z 294 11.2 88.3 05 -
= B 14 97.6 24 - -
B 562 61.2 38.1 0.7 -
X R 3 - 100.0 - -
= B 467 88.5 10.0 15 -
B 3,557 49.1 49.7 1.1 0.1
2 650 83.9 15.4 05 0.1
L B 2,058 83.7 15.5 05 0.3
(1T =] 7,217 78.2 19.9 1.6 0.2
& B 9 56.6 39.9 - 35
T 1B 11 65.8 34.2 - -
= 9 53.0 34.9 12.2 -
BB K 226 32.9 57.9 9.2 -
X & 1,661 70.9 246 39 0.6
= G 18 65.3 34.7 - -
s 1,293 59.3 28.9 9.1 2.7
N E 52,620 81.5 17.2 1.0 0.2
E/EAHY a -
(1T -
s B -
B M| 2 72.0 28.0 - -
= B 1 - 100.0 - -
% B 9 81.7 18.3 - -
" O 5 14.0 86.0 - -
X B -
E E 1 - - 100.0 -
= B 4 85.5 145 - -
o #; oW -
5 W -
5 -
3 -
L B 15 79.4 16.5 4.1 -
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FHELTH = W 846 87.8 12.1 0.0 -
=E23% = & 737 100.0 - - -
HADAH = =B 788 65.8 30.0 4.2 -
HZDPH = = 498 62.9 30.8 6.3 -
HT D H 3 B 8,746 88.4 10.7 0.7 0.3
HfEES W 15 100.0 - - -
= 102 97.5 1.0 - 15
N E 117 97.9 0.9 - 1.3
SXHRFHS N 7 - - 100.0 -
AT IFOIEE i 113 91.6 8.0 04 -
#%358 EG 11 - - - 100.0
HOUVMY g 5 -
* -
m K -
B OE -
F ¥ -
;R -
E W -
g N -
= H# -
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